>
A 2 0 & At =
= SIA M XA
b
X Y22 /H=K)
X AEX0OHAE (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
M= XI& 2t 7,743,012 8,460,458 AT17,446
J| 180,155
< 59,947
Al 7,502,910
& t2 /M=) 7,652,632 8,368,118 AT15,486
J| 180,155
< 59,947
Al 7,412,530
o= AEX0OHAE 2,568,580 2,701,680 A 133,100
= 34,000
Al 2,534,580
o= A& 47,480 50,480 A 3,000
2Et2 H Y| 19,480 19,480 0
AtS 2tel I 19,000 19,000 0
OB+t 16,000, 000& 16,000
o=l 3,000,000& 3,000
23224 480 480 0
oz22= & HMA 480,000& 480
04 i 25,000 28,000 A 3,000
= LH 04 H 25,000 28,000 A 3,000
O=A=Z NI 25,000,000& 25,000
e N 3,000 3,000 0
A=A =AY 3,000 3,000 0
OH=ZAE HMSHA "X HRFA
2,000,000& 2,000
OM=AE 23 2= 1,000,000& 1,000
Al F2sdlIR XA 550,000 500,000 50,000
< 24,000
Al 526,000
= 550,000 500,000 50,000
< 24,000
Al 526,000
2SRSENS 550,000 500,000 50,000
3 s 29 550,000,000& 550,000
< 24,000
Al 526,000
M= =4 161,200 121,200 40,000
]l 3,000 5,000 A 2,000
=]l 3,000 5,000 A2,000
2 T HE & AL 29
3,000,000& 3,000
o= 3,200 3,200 0




M HEXH B
Y HSNUE(RHLBH/NS)
o9l MSNE L AERX0INE CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
09 HALAHIEA S 3,200 3,200 0
OXIA(Z ) S MSEAL HIIAH U2 4
3,200,000& 3,200
307 gl2tol & 155,000 113,000 42,000
02 IZHE M AHE L 10,000 10,000 0
OX= ()=t =X ¥ a3l 24l X
10,000, 000& 10,000
04 RIZFHALAIH 2 = 145,000 103,000 42,000
OHM9gsl d=H=Uz =dE FH XA
5,000,000& 5,000
OMsSEuBLMUE HaZH X
10,000, 000& 10,000
OXIA(Z)HAUE 2X MHal 120,000, 000& 120,000
2E MsAH(UE)=s4 & 10,000,000 10,000
CoH=Us XA 467,000 477,000 A 10,000
307 21201 A 467,000 477,000 210,000
02 It S AIHE L 467,000 477,000 A 10,000
OM563 TRMAE &M Z&dl A2 (et
=) 60,000,000& 60,000
OZQME 48528 &l XN (2ER)
70,000,000 70,000
OHb56s TeIME =&Y 2 225 7€
10,000, 000& 10,000
OHMb56s TCIMAE s=&d3H X2
160,000, 000& 160,000
OHM563 ZRIMAE &It A&z 7,000,000 7,000
ORMs562 TEME K64 FHH|
140,000, 000& 140,000
OHMb56al THMAE ZI" 4o N
20,000,000& 20,000
StuHsE |4 500,900 864,000 A 363,100
308 AHXIEHSOIA 500,900 864,000 A 363,100
08 WSII20HetE = 500,900 864,000 A 363,100
O+2dxSstw XICI2SE WM ALY
60,000,000& 60,000
OYdLx=Sstw HelFHII& XA
5,000,000& 5,000
OMHExzESSUNSH HEE+ 8,000,000& 8,000
ONALNMIES W MSZ UM (HHEE
) 63,000,000& 63,000
OMAELDNESSN M2 AUHSIMNLESA(HE
&) 33,000, 000& 33,000
O8dlssn Msd SZHAAL(HMs2e
cag) 17,400, 000& 17,400




M HEXH B
M MU (BsL22/H=)
o9l MSNE L AERX0INE CERED
= d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMMEZ=ZLNESN RERHEAEE
10,000, 000& 10,000
ONMEIZYNSSHD SSHAHCEL L 7
&9 A1 67,500,000 67,500
OxsSsu=FuaiA 30,000,000& 30,000
OSDHSSHES L £-5 -1 5PLSH
A& 180,000, 000& 180,000
O0ZY x=-=sw MU =3
10,000, 000& 10,000
OANHUEHI = - SEMSUHIX S
12,000, 000& 12,000
OuWusSXNAHUHE M=CHal XI&  5,000,000& 5,000
HNE - HH Msg2s 84 267,000 267,000 0
307 21201 A 137,000 137,000 0
03 QIZtHNHE2HHEX 137,000 137,000 0
OMEAN=E 298 XA 137,000, 000& 137,000
308 AXIEHHSOIA 130,000 130,000 0
10 B2 S B A H A A 130,000 130,000 0
OAEAZ=MEH =2 29H &
130,000, 000& 130,000
MEL-S0I2tEUS XS 100,000 100,000 0
< 10,000
Al 90,000
307 glz2tol & 100,000 100,000 0
< 10,000
Al 90,000
04 DI2ZHHALALSE E X 100,000 100,000 0
OHM123 At =S0tetEUS M=l
100,000, 000& 100,000
S 10,000
Al 90,000
dEOCHEN S K& 30,000 30,000 0
307 gl2tol & 30,000 30,000 0
04 DIZHHALALSE E X 30,000 30,000 0
OZ2gadtet M4al dME0tetEUE i Al
30,000,000& 30,000
SotHsl K& 10,000 15,000 A 5,000
307 21201 A 10,000 15,000 A5,000
04 QIZFHALAIH B & 10,000 15,000 A5,000
OHM9zl AT AIEH S4&tHE E BIEM X&
10,000, 000& 10,000
HHCHEAIOHS XI& 5,000 10,000 A5,000
307 21201 A 5,000 10,000 A5,000




M HEXH B
M MU (BsL22/H=)
Sl HSHE Y AEE0IY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 DI2HHALALSE E X 5,000 10,000 5,000
OM31& M AIZHH HICHS AICHE! OH =
5,000,000& 5,000
d= HAAZX[OS K& 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
04 DIZHHALALSE E X 20,000 20,000 0
ONMBEl AIMAEH 8= HAATX M3
3 A& 20,000,000 20,000
dIozel =70s XA 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 DIZHHALALSE E X 15,000 15,000 0
OMb5El AIMAIEE d=23e s202 X
15,000, 000& 15,000
Nssty AXZ=F0t2l e MsUsl X 20,000 20,000 0
307 21201 A 20,000 20,000 0
04 QIZFHALAIH B = 20,000 20,000 0
ORM143] MEANZIN(ZUME &8 d4 L)
N8 AZES0tel HE MU =l
20,000,000& 20,000
d=MHA=ctolY Ual XA 7,000 15,000 A 8,000
307 21201 A 7,000 15,000 A 8,000
04 DIZHHALALSE E X 7,000 15,000 A 8,000
OHM148 MEAIZH &= MeA=2ck0lE Hal
JH = 7,000,000 7,000
d=2 30 -0 s 258 90,000 100,000 210,000
307 21201 A 90,000 100,000 210,000
04 DIZFHALALSE E X 90,000 100,000 210,000
OF= 31 & -0 =7 25d
90,000, 000& 90,000
4= SEUs XA 30,000 40,000 A 10,000
307 21201 A 30,000 40,000 A 10,000
04 QIZFHALAIH B = 30,000 40,000 210,000
OM102 AIEAIEH E3E0HISE SHE &
2EREU3 30,000,000& 30,000
FSNESIS I N 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
02 QB HAANGEEE 20,000 20,000 0
O&XEd8 RA3H XA 20,000,000 20,000
H47s UHEEHEEE3EHI 8= HHUHE BHAZH 210,000 0 210,000

3|




2A4: MR
H: JRIE(S}LZ/HR)
e H=sdE L AZX0AE (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 210,000 0 210,000
04 QIZHH AL AR 2 & 210,000 0 210,000
OHM473 HSHEHA S S XD =2 S UE EY
A3 210,000,000& 210,000
HUASSC #H2AMS 8,000 8,000 0
307 212t0| & 8,000 8,000 0
04 BIZHEAFA S 2 8,000 8,000 0
O N33 AEAIEE d2HULASSQ AN
8,000,000 8,000
MTB 100km 2| CH 3l 5,000 5,000 0
307 2I2t0| ™ 5,000 5,000 0
04 CIZ2tSHALALS B X 5,000 5,000 0
OHM13l A AIZHH /&= MTB 100kmZ 2| L 3
5,000,000 5,000
&d=2 20 E0 ZL=EAUF 5,000 4,000 1,000
307 ¢l | & 5,000 4,000 1,000
04 CIZ2tSHALALS B X 5,000 4,000 1,000
OHM23 AMEAIEH =2 R0 E0 LA
5,000,000& 5,000
MEH s 4 981,130 898,680 82,450
J| 180, 155
= 25,947
Al 775,028
MNE K-AZX 2 & 255,000 30,000 225,000
307 2iz2to| A 255,000 30,000 225,000
02 QIZ2FAAAIE E X 255,000 30,000 225,000
OAZ=2YE 2% X< 250,000,000 250,000
Ox%E0 =2 =208 5,000,000& 5,000
MEEHE KR 183,000 170,000 13,000
307 2Iz2t0| A 183,000 170,000 13,000
02 DIZHEAAIRE E X 183,000 170,000 13,000
OdY o2A MEXsla s8EH Nd
20,000,000 20,000
o=s=4Y MEHMEUs AHH XN
12,000,000& 12,000
O MEHSEUHa =&8A3H XL
10,000,000& 10,000
OHM273 &= MEHsUHs &s&BH XA
90,000,000 90,000
OMEI= ESYE AU P2LH XN
5,000,000 5,000




2A4: MR
H: JRIE(S}LZ/HR)
chelr MEHS 34 (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OMEMSANZA ESH N(HMLIHALH])
300,000& 10 «12& 36,000
OMENSIIE XA ZT=HE HE XA
10,000,000& 10,000
NEee MdsUg X3 71,000 65,000 6,000
307 2Iz2t0| & 71,000 65,000 6,000
04 SIZ2ISHAAISH E X 71,000 65,000 6,000
o&s=s48 MEdsUlal & 60,000,000 60,000
O X AEH BEAILIMHLIAE XI&
5,000,000& 5,000
OEXI A 200MEHEs2UHE A&
6,000,000& 6,000
AOIALZZI|IHE X & 15,000 15,000 0
307 2iz2to| A 15,000 15,000 0
04 SIZ2ISHAAISH E & 15,000 15,000 0
©20178 Al AZ2D|Ha XI¥ 15,000,000& 15,000
M E 43 XS 37,000 35,000 2,000
301 et A= 4,000 4,000 0
09 HAIAHI BEAZ 4,000 4,000 0
OXFOMC M=la 2™ AH B4
4,000,000& 4,000
307 giztol A 33,000 31,000 2,000
02 AI2tAAMAIE E =X 33,000 31,000 2,000
odd =012 M=Ha &=&8FH X&
4,000,000& 4,000
Ok &HOHe Md=sUg &s8FH XN
10,000,000 10,000
odd =012 =2id &d8AH X
3,000,000& 3,000
OAlZ ZOoHQ MENMSUHE &=H8HH NS
4,000,000& 4,000
OXOC M &=&FH XA 1,000,000 1,000
OAZE0HQ AIOIZ2 U3 s&83H &
1,000,000 1,000
OLl&0tdl &= 29 A
10,000,000& 10,000
MEH=EEs 4 A 38,000 38,000 0
o=} 4,000
Al 34,000
307 QI2t0| ™ 38,000 38,000 0
& 4,000
Al 34,000
03 AL EESIHES 38,000 38,000 0
OANZMENSUSE XS 38,000,000 38,000
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M MEXE 0
|

H: JRIE(S}LZ/HR)
Sl MBS 84 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2

= 7,000
Al 34,000

MEH s Z2)d X 19,440 19,440 0
== 4,664
Al 14,776

307 2Iz2t0| A 19,440 19,440 0
= 4,664
Al 14,776

02 QI AAIE E X 19,440 19,440 0]
oOMEI=s T2 29 19,440,000 19,440
& 4,664
Al 14,776

MEHY WA 20,160 20, 160 0
& 4,838
Al 15,322

307 giztol A 20,160 20,160 0
& 4,838
Al 15,322

03 I HEESIHIEX 20,160 20, 160 0
oMet=sna 29 20,160,000 20,160
= 4,838
Al 15,322

oo HEsote s X 12,000 10,000 2,000
< 5,000
Al 7,000

307 212t0| & 12,000 10,000 2,000
=} 5,000
Al 7,000

03 IZIHY B ESIHIEX 12,000 10,000 2,000
OHMC M=sotel s & 12,000,000& 12,000
< 5,000
Al 7,000

ot MEHX =K XIS X HE X 128,040 122,040 6,000
J| 64,020
Al 64,020

307 2iz2to| A 128,040 122,040 6,000
J| 64,020
Al 64,020

03 QIZIHHEHESIHIEX 128,040 122,040 6,000
ot MEM =X A Hi X 128,040,000 128,040
J| 64,020
Al 64,020

H24 MEBHSKTX BIX 128,040 122,040 6,000
J| 64,020
Al 64,020

307 QI2t0| ™ 128,040 122,040 6,000




2A4: MR
H: JRIE(S}LZ/HR)
e MEHs '4 (&t
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HDE2
Pl 64,020
Al 64,020
03 QIZIHEHESIHIEX 128,040 122,040 6,000
ooza MEM=XEZA HiX 128,040,000 128,040
J| 64,020
Al 64,020
AL Ol2d N 74,450 42,000 32,450
J| 52,115
=} 7,445
Al 14,890
301 et A= 74,450 42,000 32,450
J| 52,115
= 7,445
Al 14,890
01 AMFSIEXEE 4562 74,450 42,000 32,450
oOoAZ=2X 0l2d & 74,450,000 74,450
J| 52,115
& 7,445
Al 14,890
HESAE &5 202 3,385,147 4,042,599 A B57,452
2UMEHFAE X4 1,000,000 100,000 900,000
401 AlEHIZL 201 Y| 1,000,000 100,000 900,000
01 Al&H| 993,700 100,000 893,700
O2LMEHNFAE X4 993,700,000& 993,700
03 AlE 20| 6,300 0 6,300
O2ALMEHFAE =4
1,000,000, 000 *0.63% 6,300
el ol MsAae &X 300,000 0 300,000
401 AlEHIZ £ 0HY| 300,000 0 300,000
01 Al&H| 300,000 0 300,000
Ooelol MEAME (220 S) 44X
300,000,000& 300,000
CIE2XHEASAE =4 850,000 0 850,000
401 AlEHIZL 2 0HY| 850,000 0 850,000
01 Al&H| 850,000 0 850,000
OUSEMSAAE AXXC L XH AL
850,000,000 850,000
HSAAE 22 ,235,147 1,192,599 42,548
101 e1214| 128,667 105, 161 23,506
04 JI2ZtHIZ22 NEES 128,667 105, 161 23,506
OMESAL2E RA(SHE) 68,317
o0olgQl 51,760 x4 233! 48,241
oFX4£H 51,760& x4 48! 9,938
_ 8 _
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AN HEX 0
M MU (BsL22/H=)
S MSAE =5 22 (&)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Otz (2%, Ms2S) EAEF S
300,000& »12& 3,600
02 =224l 263,180 204,140 59,040
03323 & HA 212,000
clIIRS3 200,000, 000& 200,000
cMGtE 23 9,000,000& 9,000
oHSAE & SUMSAE 2 MeIISE
3,000,000& 3,000
O = Hl 4,000,000& 4,000
O A& EHl =Xl 40,680
cHSAERA2L (M2, 252, =7
B4 S MEMSANE) 13,000, 000& 13,000
o M| OHM 2t 2| O] & b 18,000, 000& 18,000
oI N2 |
180,000& *3H A+ 123 6,480
o&MII=MHHl HIIZAMZ 800,000 x44 & 3,200
O Xt& & Byl 6,500
o X &R FH 4,000,000& 4,000
oXtg =2, |2l 2,500,000& 2,500
206 = Hl 12,000 12,000 0
01 M2 4l 12,000 12,000 0
OHSZ U SST TYNN 7Y
5,000,000& 5,000
OM=s2 & SUMSAME E=TH 2
3,000,000& 3,000
OEx=3% ¥« SUMSAE NN 7
2,000,000& 2,000
OMSAEF=H XFx 228 s E MHE 2
2 2,000,000& 2,000
307 21201 A 200,000 200,000 0
05 RIZt2IE = 200,000 200,000 0
ONFELZLZE 2T AL A2
100,000, 000& 100,000
OMBESE2SE FHIC A 22
100,000, 000& 100,000
401 Al HIZ 2018 430,000 575,000 A 145,000
01 A& HI 430,000 575,000 A 145,000
O&EZHLAZT HE= 100,000, 000& 100,000
OQX=ZCI7ZE FHl & 2l 40,000,000& 40,000
OANOIEEE 2=+ & FHH] 20,000,000& 20,000
OMEXN=Z 20 2EHE 2 ZH WA
20,000,000& 20,000
OSUNMSAE A2+ X FH|
20,000,000& 20,000




M MSX A
FH: MSTIE(2I}L2H/AK)
9l HSAE 25 e (298 R)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OM=E3d, OIANSANEZS AL L HY|
30,000,000& 30,000
ootesJ|I7* &X 20,000,000& 20,000
SET NS WRUSANEE RN24H
Al 30,000,000& 30,000
OAE &FE 25H =5 HUAEY
20,000,000& 20,000
ONMEMEAEE HUISAL 40,000,000& 40,000
OMEMEAEZE HUI S A 40,000,000 40,000
OMBSE2SE AdULYEHE =&
50,000,000& 50,000
405 XH&HF SHI 125,000 7,400 117,600
01 AL =2 EF SHI 125,000 7,400 117,600
oMsz2 ¥ 2s& HE3+7Y 5,000,000 5,000
Os7dzE 2¢ 120,000, 000& 120,000
aAll=g & 2 717,775 725,159 NT,384
AU=gE 22 542,775 560, 159 N 17,384
101 @121l 219,375 142,187 77,188
04 JI2ZtHZ2E2XNEE S 219,375 142,187 77,188
O4=YZaAAE 2el 154,172
o0l fY 51,7603 *6H x233 72,361
oF Xt 51,760& 6 48 14,907
SN 51,7602 x6H x 11 3,417
oFdUZRLYH 77,6403 6 48 22,361
o N2AAIZIELE 9,710 *6H x225A| 24 13,109
o2NB S 40 22
126, 155,000& *13% 16,401
oz | 7,000 x6H x48 2,016
SRTE=] 100, 000& *6Y *x23] 1,200
SRS ESE=] 2,800,000& x3H 8,400
Ogst+A A oML X 1E2Y 5,649
o0l 2Y 64,9103 x2H 31 4,025
ocx5dZ2EY 97,360& x2Y x5 974
oF X 64,910 x2H x5 650
ONSXEZXH(2H) 59,554
o0l fY 64,9103 x2H 233 30,249
oFXE 64,910& x2H 48 6,232
SRS PNES=, 64,910& 2P x 11 1,429
ox5dIZ2RLH 97,3603 *2H 48 9,347
o=0AZ S 4 BE S 47,257,000 *13% 6,144
o N2 ELE 12, 180& *2H x225 A| 2+ 5,481
oz EH| 7,000 »2H x48 672




M MEXE 0
B NRIE(2HLBT/UK)
Sl AlSEE B (B9 ®R)
= _ = s
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
201 fEt2E | 278,400 376,972 N98,572
01 At 2t 2l bl 33,400 32,972 428
Oget=ZH| 20,000, 000& 20,000
CF= il 10,000,000& 10,000
oLtz (L) 2,400,000& 2,400
O+ LA AEFAE HIWSHI
250,000& 4 1,000
02 3224l 245,000 344,000 99,000
©0332= % HAl 72,000,000& 72,000
OHZHI(ZAIJtA) 100,000,000& 100,000
O Al &l =Xl 50,000,000 50,000
O Xt & el 22,000,000& 22,000
©2ZHl 1,000,000 1,000
206 M= Hl 45,000 41,000 4,000
01 M= Hl 45,000 41,000 4,000
O+=g8& A=45 ¥ 30,000,000 30,000
O=2& JIA MM 7 5,000, 000& 5,000
O+=8d 22 43 & 235 28
5,000, 000& 5,000
Ox=g& HI, A== XM & 5,000,000& 5,000
AUsEE AL 3 175,000 165,000 10,000
401 AIEHIZ 2 HYI 155,000 145,000 10,000
01 A€ dl 155,000 145,000 10,000
O=8% g4& uA 45,000,000& 45,000
O=2% 2% B2 A 50,000,000 50,000
OxgE U E2I L ML 22
30,000,000 30,000
O=3% d&¥E=+ 30,000,000& 30,000
405 At&tH = HI 20,000 20,000 0
01 AL ESFH SH 20,000 20,000 0
odAals # 5,000, 000& 5,000
Otfxg dgw 2¢ 15,000,000& 15,000
HH2AAH (WS X D)(OIEHIIE) 90,380 92,340 £1,960
el 2| 5,000 0 5,000
el 2l 5,000 0 5,000
101 1244l 5,000 0 5,000
03 RINAL=22XNE > 5,000 0 5,000
O=&Hl 5,000,000& 5,000
Jl2&dl 85,380 92,340 A 6,960
ol 22| 85,380 92,340 16,960




2N
X ZH -
L= B

=

=X

SN BB (HA) - MM - BES il HREZ
201 ¢er24| 7,500 7,500 0
01 ArR 22l 7,500 7,500 0

OBt~ 5,000,000& 5,000
O= &l 2,500,000 2,500
202 Oddl 74,880 80,640 25,760
01 = LH 4 Hi 74,880 80,640 A5,760
O=UWEZ I 240,000& 26H «12& 74,880
203 YR =& 3,000 4,200 A1,200
04 EASEYRFEH| 3,000 4,200 A1,200
ORN2EYF=AHI 3,000,000 3,000




